Solve each equation.

1)

3)

5)

7)

Problem Set 4: Mostly Two-Step Equations

9c+1=10

8=3a-4

13+ 7x=27

n-31 _

42 + 51 =8t

10)

6y-5=7

m L 9-11

17-g=6

1+2r=35

4p-3=17



Problem Set 4: Mostly Two-Step Equations

9c+1=10

c=1

13+7x=27

x=2

n—31:

n=39

42 + 51 =8t
t=14

Answers

2)

4)

6)

8)

10)

m L 9-11

m=10

17-g=6

q=11

1+2r=35

r=17

4p-3=17
P=5



Problem Set 4: Mostly Two-Step Equations

Solve each equation.

1) 12=18-d 2) 5h+10=30
3) %ﬂ 4 2%k-47=3
5) 39-9u=4u 6) 43=6v+1
7 6+7p=34 9 o=2¢tL
9 L_7=0 100 Sm=3m+16



Problem Set 4: Mostly Two-Step Equations

12=18-d
d=6

39-9u=4u

u=3

6+7p=34

p=4

Answers

10)

5b+10=30
b=4

43=6v+ 1

v=7

_8c+15

c=15

Sm=3m+16

m=8



Problem Set 4: Mostly Two-Step Equations
Solve each equation.

[+28 _

o o 2 13d+2=15d
3) 35-4y=y 4 5+6r=29

5 S-3=1 6) Eg:o

7 35-17=19 8 14-2p=5p
o 201+9_»; 100 26=22+2

n /



1)

3)

5)

7)

9)

Problem Set 4: Mostly Two-Step Equations

r+28=n

35-4y=y

t,
%,

-
Il
~J

Answers

10)

13d +2=15d

d=1
5+6r=29
r=4
U-6 _

3 =0
u==6
14-2p=>5p
pP=2

_ v
26=22+ -
v=28



